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1. State three numbers between 0 and 1. MR”
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3. List all of the natural numbers from 1 through 5. Is this task easy to complete? Why or why not? b 9

1, 2,3,%,5

2. State four rational numbers between 3 and 4.
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6. a) How many natural numbers are there from 1 through 10?
¢) How many rational numbers are there from 1 through 10?

e¢) How many real numbers are there from 1 through 10?7
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7. State which set is denser (has higher density).

a) The set of whole numbers between 0 and 30 or the set of rational numbers between 0 and 30,

d) The set of even numbers between —50 and —20 or the set of irrational numbers between
—50 and -20.
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11. The following sequences of numbers each have a limir. That is, they gradually get closer and
closer to a specific number, called the limit. Identify the limit of each of the following sequences.

a) 7.1,7.01,7.001,7.0001,... b) lllll d) 0.3,0.33,0.333,0.3333,...

13. For each of the following expressions, imagine the value of n getting higher and higher. What
happens to the value of the expression as n approaches infinity?
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16. Did you know it is possible to add infinitely many values and get a result that is not infinity?
Consider the following sum.

1
+—+...

1
816

11
274
a) Hypothesize the value of this sum.

b) Use an area diagram to verify your hypothesis.
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